Partner A: Was heifit ,A“?

Partner B: ,“A“ heiBit ,Osterreich®.
Partner A: Buchstabieren Sie bitte!

Partner B: O-s-t-e-r-r-e-i-c-h.

Arbeitsblatt A

Was bedeuten all diese Abkiirzungen?

1. Inmternationale Kfz-Kennzeichen

A i
CH - Schweiz

E - Spanien

H -

P -

SF - Finnland
TR -

YU - Jugoslawien
IRQ —1Trak

GB -

MEX - Mexiko

N -

J =

B - Belgien

2, Kfz-Kennzeichen der

‘ Sprachlernzentrum

tituts
Panorama A1L. 3

Bundesrepublik Deutschland

M -

I =

N ~ Niirnberg

WE -

GO - Gortingen
TU - Tiibingen

JEV -

DD -

SAK - Siickingen
CUX - Cuxhaven

B — Berlin
HA -

E -

K — Kdin
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